
Hw Ex-9(A) 
Date 
Pege 30.6 

9-(1+5)-3 
19-6- E19-6-2 

E19-9 
= 13-3 

806+ 5-2) 
E30 x6 3 
=30x2 
= 60 

E10 
7 8 +96*24-6x18
=43+4-618_

3+U-108 
=52- log 

-56 

328-(3x)+6
29-246 
=28-9 

822 [3-{8-(4 +6). 
22-3-{g- 103] 
22-3-F4 
= [3+2] 

-L4-3)+25 22-5 
=9-11+10 
9-11 
-2 

FI7 
34-29-30+66 + (24-28-26))} 
34-1-30 +66 +(24 -2)}] 
34-2-S30 +66+a23] 
34-9-{304+31
31-29-33]

31-E4 
3M+4 
=28 

51-05+5)+6] 
=18-3 +6] 

-18+6-3 
24-3 

6C4)-4+2)] +8 
C4x2-2]+ 
=[3-2148 
=6+8 
4 



ate 

Pug 

10 60-lG + (4 x 6-8)} 

=60-{16 (Rt-3) 
60-16+16}_

=60-1 

59 

D5-n-5+18+(4-5-31 
25-[2-s+18+Ct-2)}1 
=26-12-s+18+2
=25-12-f5+933
=25-[2141
=25-23 
=25+ 2 
27 

1215-CI6-S12+21+(-2})
5-i6-{12+21+7}
=15-16-{12+3
-15-16-15)

=5-1 


